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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 40.
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Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 12 questions.
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F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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Candidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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(iii) @7 G’ % & Fo7 § ak® [Awey {9 T 8, F7H @ % & F97 B gT 81

(iv) 179 T % 99T &l 791 Fe-rkrer % GrT Haeq el 11
(v) %997 9T 791 TEGiernl # B AT [E)

(vi) PERICT & T B SI7AT TE &l

General Instructions :

(i) This question paper consists of 12 questions which are divided into three

Sections : A, Band C :

Section ‘A': This Section consists of six questions from 1 to 6. Each question

carries 2 marks.

Section B': This Section consists of four questions from 7 to 10. Each question

carries 4 marks.

Section 'C': This Section consists of two questions 11 & 12. Each question

carries 6 marks.
(ii) All questions are compulsory.

(iit) Section 'C' contains both questions where internal choice have been provided.

Choose one of them.

(iv) You must attach the given graph-paper along with your answer-book.
(v) You must write your Answer-book Serial No. on the graph-paper.

(vi) Use of Calculator is not permitted.
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SECTION - A

1. A% 50 A9 & o 9909 2x+y-22=7 R 3x-Ay+2z=4 THIW & @ ol 2

For what value of A the planes 2x+y-2z=7 and 3x-Ay+2z=4 are

perpendicular to each other.

2. TRA @ B b W WY (projection) HT FINT, &l a=i-2j+3k AR b=3i-2j+k. 2

Find the projection of vector @ on b, where d =1 — 2j+3k and b=3i -2 +k.

3. wp fed § 100 59 B O 10 59 Jeqel 81 IR B § 5 5@ o1 qghes ey
(Sample) form ST, @ IEH 1 g9 & JRYC! BN H TR G BT 2

A box contains 100 bulbs out of which 10 are defective. In a random sample of

S bulbs taken from the box, find the probability of having 1 defective bulb.

4. WW%:ytanxaﬁwaﬁmqﬁFo,wu 2

Solve the differential equation : il—‘li =ytanx if x=0, y=1.

2
5. 3 y=2e*+3e2*, T W %—6%+8y=0| 2

2
If y = 2e™* + 32", then show that d—g—6ﬂ+8y =0.
dx dx
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1
6. T y=x" x, @A % A HIfTT 2

-1
If y=x%" x, then find .
dx

gE - §

SECTION - B

7. g9 x?+y? =a? T WAEA TG BT 4

2 2

Find the area enclosed by the circle x + y2 =a”.

8. WA 7F=({+2j+k)+Ai—j+k) AR F=2i—j—k+pQi+j+2k) & &= B FAH
RIS B 4

Find the shortest distance between the lines 7 =(i +2j+k)+A(i - j+ k) and

F=20—j—k+pQ2i+j+2k).

9. TH q7 H 2 AW AR 5 §he e ¢ b W A9 H 4 AW R 3 HHe e 2 Th A
AgeBd] AT SEH § & g el Sl 81 A 98 T8 A 5, f I6d Jed 99 9 8
% TRRaT A BT 4

Bag Ist contains 2 red and 5 white balls. Bag IInd contains 4 red and 3 white
balls. A bag is chosen at random and a ball is drawn from it. If the ball drawn

is red, find the probability that this ball is drawn from Ist bag.
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10. 79 fqUd & ®M  f(x) = 2x° - 3x% —36x + 7 AT g9 (Strictly increasing) ¥,
CERC RN IR L 4

Find the interval in which the function f(x)=2x°-3x% -36x+7 is strictly

increasing.
Qs - 9
SECTION-C
11. fifiad el B oere R @ & R : 6
xX-y+z=4;
2x+y-3z=0;

x+y+z=2

Solve the following equations by Matrix method :

X-y+z=4,

2x+y-3z=0;

xX+y+z=2
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OR

w&haﬁﬁmﬁwA{f ﬂ THHET A2 -4A+1=0 TR, 2 x 2 He B

TETH e & AR O, 2 x 2 HC H T I AHE & 306 ToFd 4 A~ 7d i)
6

2 3
Show that the matrix A = [1 2} satisfies the equation A2 —4A+1=0 where I

is , 2 x 2 identity matrix and O is 2 x 2 zero matrix. Using this equation, find

AL

12. 3EQH : 2x+y>8, x+2y 210, x>0,y >0 & I Z=5x+7y & FATHHT
FITT| 6

Minimize : Z = 5x+ 7y under the constraints :

2x+y=28,x+2y=210,x20,y=0.

YqT

OR
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frfiied S/aEl & ST Z = 3x + 2y & SABAHIBT BN
2x+4y <20,
3x+y <15,

x,y=20

Maximize : Z = 3x + 2y subject to the constraints :
2x+4y <20,
3x+y <15,

x,y=20
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